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‘_ Which statement best explains the following quotation:

- ‘

"|

|
~.
1.

_._'j -t

A cynic is a man who knows the price of everything but the value nf nothi Tﬁ;

1
v4ol
-\.
i . it |

; Oscar Wilde : 3

e —— ey — -

'.F
E 3
!I

"1".|

e A t.yntc is altrulsﬂc in hisiher actions tnwardf*@thﬂm- g it .

e

e R = R R R =y e ==ts

ﬂ cynic is too pesslmlstlc to appreciate the non-material value of things

-.-' |' ;
<
r

'..,I: P S

t. A cynic fails to cunmder the good in penple

R - _r E : -
k: cares only abnut profit. | B
1 F*-* XN !

-'I 'I I-' Hp. " I'r o i
L '.a-'n--'fi '__ - : g ( -
'i e i\ {1 . ; ‘\
'u I:' i" 1‘ -:: ': 1 . : i : v 1 H r! o
et S A PR LU e ™ - e i P e L
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bosdiointuts, < B
= |

re racin ' wther for a piece of cheese.

sertook the green mouse.
was 0 ﬂ?;hﬂ\: green mouse.
ame in after the red mouse.

D

ES SR CH ISR R L L
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tement best explains the following quotation:

e : - . . "
in be supported by an illusion; but happiness rests upon truth.

2 is less Important than real happiness.

”;,.:1.; 255 depends on the rejection of the illusion of pleasure. C Ay

:ieasure. hut only reality leads to happiness.

. 5 Eharyhapphess Is less lrnpurtant than the reality of the illusion of pleasure,

4 for happmess but only reality can Jead to pleasure,

- .'-."1

-,

<y

%

T B

uc -ﬂ&&.ﬂﬂz Without a price tag?

x st LI
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W
utapr
.I what is the :ust of Buddy, the dog witho p

w T

[ a2

RITE

A E110
B £
C L&

i:e tag?

——— W

et 3 P‘a;l;]'y ﬁ.lﬂ-ﬂy__ﬂ _-_.3

—fa—L0 ENG 1211 PM
13707720
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T3

]

she will be 60 years old. How old s John now?

i

John is exactly half his mother’s age. The total of their ages is 60. When John reaches his mother’s current age,

A 15years B

B 20years

s John is 20 & his mother is

D 40 yexs

‘ 40

(%3 CamScanner
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7

Identify two words from the options below that are closest in meaning to: “Delude”

8

At Aggravate

C Compltate Com pl icate v
0 DBore BOI'e

(%8 CamScanner


https://v3.camscanner.com/user/download

Find the missing figure:

O

is 18

B

©

L]

ista?
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9

Choose the word that does not match the others:

ey Ferry
Bawe Battle
cgar Clgar
Pizza Plzza
retow Fellow

v

The answer could be C because

Cigar is the only word that hasn'

double letters
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|| oo ®42/42 B7/42

12813 . s ,

o | 11 Find the missing card:

i2/42| | e 2 g [ |
DHSPLAYED & ..* * [ ] v ‘ [ ]

— Q - v ‘
7/42 c e e aa: D
AFYYERELD ' E

=2 2 e |7 14 [Sww
L CRIESTON > ? *--
.3 RINE & A
0w g 93 4 A
¢ &
li‘;ii; 'E ;
T . i ¥ 3 3
: ; ciliv o
o A s :

&ﬂ"f_ﬂul}]tmnny O e B0 G 44 Hﬂ_]:ﬁu P D
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1 2) pfete the following series: .
3-7-19-55-72_-487 3. 7. 19. 55. 7
A 112 4. 12. 36.
5 the relationship between the blue numbers is that
156 the next is multiple of previous by 3:
4x3=12,12x3=36
C 161 .
therefore, 36x3= 108
D 163
E 172 1 63

——

487

%83 CamScanner
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| 13 Although James answered 10 questions incorrectly, he got 12 out of 20 (12/20) on a test. If he receives the
same number of points for each question answered correctly, how many questions were asked?

| A 15

B 20

' I
C 25 (: ‘mil

14

Frumthanptiunshe!nw,idm.-ntiﬂ.rthamuv.rnrdsthntaretlusestinmeaningm: . s

S W T WS ANy 1215 P
[ SRR T . mite @

10+15 = 25 Scanned with CamScanner
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14  From the options below, identify the two words that are closest i
"Allocate"

(Note: In order to obtain full points, you need to select two words)

A Assign

B Attribute A
C Bargain
D Take B
£ Sell

Scanned with CamScanner
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IME
15 Which of the two statements best explains the following quotation:

42 - (Note: In order to obtain full points, you need to select two statements)
YED |

42 | "The grass is always greener on the other side."

RED f R e e e e e o o i

— A You should always look for something better.

e | S8 M0 (IR T TR OO e L F e e IR R e e N PSSt N, S S o

ION - B We always envy what others have, without learning to appreciate what we have.

C We think we can find better things elsewhere.
D What you have is best.

E Itis normal to prefer what you have to what you don't have.

. ] - 2
a
g - e e e i e — 2 = — = e — A e —— = s r— e ——— e —— o — T T S E— e p— = = _— = = e — L S
1
- - - - - ] i = = e

T —— - - B - 5 e Fal o o} — a . = -— == - =
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00246 | (T |
TOTAL THAE :’ ‘
| -
42{42 | WRi
WSDISALAYED || L
__I-D_,"_d-_zl_ 3+*\I ‘e ¢ lv w3,
NG ANSWEEED .9 ” | " 1
—i | L 0210 05 8 ap 62 C
- : . '
THE QUESTION v v fwow
. v e L
oA & i.;
:E v
"3
Vs s 1 by 2
s ) v e £ e
A B v C v v D
s @ o
- £ " " ®: 3

F i search

— Q2 rtvay e 0 ) KT8 P

_ENG T -1
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®42/42 =

: 18 At the end of a table tennis tournament, you are declared both the 10th best player and the 10th worst
. player... - '

- How many participants took partin the tournament?
A 18

B 19 B
C 20

D 2

19 Identify the Pattern in this sequence and pick the last word to complete it

bean, salad. radish, cabbage, cucumber, ?

————— = - =

Y i) Ot B yelad) Aol (o LiShe | a3 ALgUall (S Al phas Bl o
= S clia JuAd] ey 9 LA U3 E—
| clis | guud (e 9 L I3 bl wae T gunt clidle a3 (Ll

Sl + s IFI?+M¥MI‘9=@+‘N€JL‘9?’ "“’JI'I'U_.

1 +?+?=M3M|Ma$# I?_S_;_i.aﬁ;g:ﬁl ._;g_.mjl.ll .:.u.r.&,_JLu!

19 = E-ljl-hﬂ LJ"':‘:"H.PJ"!.‘\.F" II,SJL:.- ;;g:ﬂl Crmas W sac gdLli.'_h!
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19

._I:e_an, salad, radish, cabbage, cucumber, ?

.~ A potato P

| B asparagus ' < C
: .

carrot
D twrnip

E parsley

20

Wat does the idiom "pot calling the kettle black"
—Hi R m B o .

mean?

Identify the pattern in this sequence and pick the last word to :um.plete it:

8 ot Partlysunay o & 80 = 00 e
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e B e P — L Ea

20  What does the idiom "Pot calling the kettle black” mean?

A Potis more useful than a kettle,

B Someone refusing to help someone in distress.

. € Aperson triticizing 2 more qualified person than he or she. D
D Aperson criticizing of another of equal status/caliber.

£ Youcan get yourself dirty by dealing with shady people.

——— SA3E. 5
‘, Partly sunny O W ) PN 2

130
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c— —— T———
21  Choose the word that does not match the others:
CHERRY, POTATO, BANANA, TOMATO, PEANUT

b _,, ' ders should fill in the empty boxes in the third puzzle?

¥ o N F
I Bl ‘.;:- i L w |
= i W == Hm:
N N = - . & b -ﬂ-m
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L — “ e & il
—_ [T

Which 3 numbers should fill in the empty boxes in the third puzzle |

B | C 37,501

= D 12,2846

Blue box for Odd numbers.
Orange box for Even
numbers.
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f-h-e-g-d-f-c-?
6-8-5-7-4-6-3-
?

?=5 & 5=€
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28  Whatisthe yalue of the triangle?

A2
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R

e

Which word completes the following sequence:
: | b |

LOVE - HORNET - ? - OCTAVE - SOLVABLE

The number of letters between O
& E increase by 1 in each word.
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2+3=5 & 5=F
6+2=8 & 8=H
34+6=9 & 9= |
4+8=12 & 12=
L

—_——
e
B "
———
- C it
——
oy = —
-
R
o

|

: .Iul Lmfy

1
il

bl

i "
LT B |
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.

2 .cmr. in trying to reach Rome as quickly as possible crossed the river Rubicon, calling out “The die is cast”.
4 L Roman senate had declared that anyone who crossed this river would be declared a traitor,

':J _ \u‘.ha_t does the idiprn: "C rgssing the Ruhi:uﬁ" mean?

“* -_:_:' Mtnrnlng a difficult task.

gr— ’-.-'... | R
B Tobethe first to cross the finish line,

S = " I I
e L OMpieting
Lompleting a task. E
) 1o pet older. .
‘I Fae b - -
e b
o L h,
= s

% AIF Partlysunny o~ g o &
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| E Making an irreversible decislon.

v | 29 Complete the following series:

0-3-3-6-9-15-7-39
o E

B 21

c 2

D 23
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‘ 30 Identify the word closest to:
" "Implacable”

3 i A Inappropriate

B Incomprehensible

n Inflexible |

= =

b

g

Semo

. '\-.'J'_-'.!. N

Framhle the letters and identify which one of these wo

rds is not an animal:

= -
i .':l ._E- = S
e —
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‘E
;
%
;

0O 9= & %

® 42/ 4y

—— — — -

31 Unscramble the letters and identify which one of these words is not an animal:

A usemo Mouse |
o sobin _ Bison
C ger Tiger

N D eetsanr

E fafireg G i raffe

- . — g g

dH'ﬂHfﬂUl

32 Find the missing word:

|ty Iy (S —
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32 Find the missing word: -
By ey oy e ' !
P ey ey e ;
ey s

e .

APPENDICITIS
MIGRAINE
MEDICATION

B

C
| D STRAIN
.E :

Red:
A&O
Bleu: |
Green E
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‘33 Complete the following series:

13.3-6-18-72-2-2160

A 360
B 402

-
& 2
]

. C 518 : A

|
|

'] 34 Mary smokes 20 cigarettes a day. She decides to reduce her consumption daily by one ci
_one Sunday, she smokes one cigarette extra rather than smoking one cigarette less. How man

3*1=3
3*2=06
6°3=18
18%4=72

725=360
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omy assessentoHice php/ passaliuniTpal

®42/742 R30/742

34 Mary smokes 20 cigarettes a day. She decides to reduce her consumption daily by one cigarette. However,

one Sunday, she smokes one cigarette extra rather than smoking one cigarette less, How many days will it take
her to completely stop smoking?

2 Pl

A 20days

MR 2 days

C 22days B

E 24days

=fudy these & addicion dcarelully and answer questions 35 and 14

e e m Enrnlana =
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Study these 4 additions carefully and answer questions 35 and 36:

& - 0.(--

>
-

.

b

- Eamings upcoming A @k X3 = dal £ 1212 PM
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37
Denis is back in Paris, his home town. To celebrate his homecoming, he is throwing a party with some friends. Karlos,

from Mexico, is invited. Annabelle from Canada is also invited. Rita, from Tunisia, will also attend. Only Betty won't be there, since she

had to move back home to (x):

A Guatemala

B Pakistan

¢ UnkesSies letters similarity
D Philippines

E Denmark

F ~Morocco _ S e e e S e G = | .
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Study the following statements carefully and answer questions 38 and 39:

| There are a total of 3 vehicles in 3 different colors and each person owns only one vehicle.
.’I 1 - Michael does not own a motorbike

il - Stephen does not own the red vehicle

| - The car is green

- Giles has a bicycle

| i One of the véhicles is blue

;i 38 Which is Michagl'sv;hiclg? _ | o7 ELEE
T, Giles. Stephen.  Michael

| —— bicycle. motorbike. car
C The bicycle. i it red- f | blue- green

CamScanner


https://v3.camscanner.com/user/download

R e i B il..._‘ D Iy Y

._._ LU RIAE

e |

-
-

-
.

e
“”H..__., f._.___ I

-
-—
-
LS
-.

A __.,

.__.

m__”._._.ﬂ,_.._ M

Vil B A ] ¢ § e ok e
§ L L ___.;__. L_____.__._.u_. ...._____n.__r__._____._.___ L .._. e n.__
1 R AL | T i
i L R M
BV T L
b A e
A AR AR R LA A
1 i ] ] 1 L
L | ] ¥
s WA R RN
] ]
R
YRR
A
L) ] "
L} ! A LE
Lo ln i
i i (& i ’
¢ e
=¥ i
STV
MR TR S R TR
TN e T
$ Ty F i
-— ! -_ L
I I
AR N
- --J. 1 i
- ST
§i TR I T (L
1 R kT R
ol ool L
e g r
k AORTNE ]
IR T e LR LT I
d Wi TR
L i L
R BN
o M W ¥
k et bt R
I I N
¥ e 0 e 1
T R

-
e =
-
-
-
=
-
-
-
I
-
-
L.
-
=
-
-
~—
-
-
i

-
o
-
.
=
-
-~
-
I..
-
-

-
S
=
—
-
oy
-
-
-
-
-
-
-
-
-
l‘-’
-
=
=
—
-
=
e
=
-
-
=
=
-
-
-
»
-
w
-
L
-~
-
-
A
-

|

" r
- By,
=
-
- -
qh
=
E -
-
[
-
-
"
" -
[
]
—
m——
d
-
v
) -
-
=
5.
-—
5.
b -
"
[
——
—
-
L =
=
"
-
-
' =
B -
.
=
i
= -
= -
.
—

-
-
i
-
-~

"
-
=

.
-
-
-
,\’
=
-
=
-
-
.
=
=
-
e
.
-~
-
=
-
=
-
=
=
-

=
- =
-
-
- -
—
= =
i
-
L
-
L
=
-
i,
= -
=
-
-
-
=
= -
=
=
-
- -
=-
=
T
-
-
']
-
-
- -
-—
— e
-
- =
=
-
o -
=
-
-

; i R / NG R I T Y e G i i
d By i [ i IR S My vk aR LIVl V. i it I Y0y i i [l i
TR AL LT L R "R C R I T T R R R AN R A R L ] IR R R
i Tl T L T [l R THN AR My i il 5 i i ! i L T y it
] Y L ¥ b a ol i % ol S o B g 1 13 s
: R RS st Lk FR RN AT I RS T T T Y Y | TR B | R TR

1

L
> -
P i
B -
-
3 =
- =
- =
-
- -
“n
= .
-
a -
& -
-
= -
e -
= - -
=t
o =
-
- "
- -
= -
FR——
- - =
- =
[
= -
1
R
= -
"
-
2
& -
- -
e
-
=
= =
e
= -
-
-

i R A RN Y | PR ARCE U RAT R R R ORI A I T IR T LY d T

i by ¥y Ty i h b T e AL (| T i & T B Ve 1

! R e i i i Wl WS & T ey FA T W "y YT T

i R "I G I Y R Y R R N A 0 LT LR R R

' (TN YT I} ol 1w e T T T AT LRI Ml » gidq T

X & i i i T I i 1 i [’ e i YU i .y_ .
SR N e e Y TN L R ) G R R R I N O e MR R IOV Y PR Ll
i Fe i A 1T by ¥ ORI TR D B PR e ] F e pli a b 5

=
-
I.\_-I
"
o
i
.
"
)
)
=
-
-
-
-
=
-
-
.
.
-
-I-
"=
e
=
-
- .
=
-1-
ot
=
.
o
.
-
-
-I-
-
=
—_——
-'I.
-J_
-I-
-
-l_
-
=

-
o
-
.
-
.
-
-
-
-l__
o
- -
-
-
'
-
-
-
-
-
-
-l_
e
-
==
-
—
=
'
= -
g
- ]
-
.
-
-
-l_
-
- a
e
-'-
-'|.
-
-
=
-
-~
-—

h
B
-

-

el

1 n*
e N 1

i i BT o FETE 1 i i W T Ve Pl LY i ] ¥ L — Tl

h | LS WY K LRSI S ALY 1% N LR i ER 4

Ly N R ..._. TR e T O I R ] 'R | _..S i A
TR i il Vi | fary i 3 L i ] (" ..S ¥ I i
TN e | ! TNy 5 i\ L R ¥ ,
W I R A Y o T e i 1 .O L TN

3 v, e P e T T "

_,___..._.___._..

TR el W U AT VI A
T T T P8 T W T T o Ll Fle (e

4 _,.._.:.._
ah ....-

-
=
-
=
-
—
-
-

=
-

s im

WONONE
._._q L
b b 1 TR L N

;,4 R
[

|

-
.
E
A=
AL
--I
&
.-
o e e i i————
-
'-I-
=¥
. - .
=
:
-'I
——
-
e
-J
-
=
=4
.o
i -
-

o
#
a

.T...
-.._

_...q._..

.r AR

...‘____ﬁ?. ] ..:.,‘F

G

T g el . | LI ! i ‘T
i T Ty
i 1j, ¥
.. ] __. ._.. ) . ol
[ m N 3
A BT i
t Yai el 1% i a ¥ 5 TRl bl .-... PR Y
s -__- - ; 4 -.”_.“.__.._._.u_.-ﬂ_r._ ..”._.. ' » B -k, T
(7Y W |- il !
W A S R X AT DY
wX L 1 -.-.:..-l sl bp b T8
1._...- Fomglag N 2Bl L

- _Ilf..n. .-._.I.l. .-i.uﬂu.-.-_ntl:r._. G L S i

1_ Eit..:r-._iﬂ A e AT R

..T-. . i .. 1l.-_|l-.i..-!

i!,..ﬂ.m._

z-lanj A



https://v3.camscanner.com/user/download

N s,
LT Sl

T
40 Find the missing letter:
s

SMLISP?OECFD

Ll
b
I
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- _|| "

Every 4 letters are together,
depending on the alphabet order.

KMLJ [JKLM]
ECFD [CDEF]
SP?7Q [QRST]
Therefore, ?7=R
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42)Which of the following sentences best explains the saying “to be the black sheep?"
A  Playing the fool. B

B To be the "odd one out". /

C To be a bird of ill omen.

D Being the one that finishes what he or she started.

E Becoming the focal point.
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